6. You do more reading and discover that the optimal size of an
exercise pen is 40 ft2. What is the minimum amount of fence you

can use to create the pen, if you're still bounding one side of the
pen with the wall of your house?

) 40
@ ,‘. @ P = 2_"" 1XLO
g |vousE el
He W's 2x-4020, * 0
@ Mwnwize P- ZXﬂA += {20, M
1% Devivaive Test W
© ’X\‘ﬁ)O By = +/a U
4 Qo\f\sjwm\«\’c‘mwﬁ}(()) g -
Sove for - =X @ el - (5= 25
Raorite P P- 2073 P- 2B ) 55 o
g = ‘\J%Jr—?’-%‘%:d.(%mcs

. Coke needs to make a cylindrical can that can hold precisely 500
cm?® of liquid. Find the dimensions of the can that will minimize
the cost.

The volume of a cylinder is #r%h and the surface area is 2rrh +
2nr? where 7 is the radius and A is the height.
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8..Ted wants to construct a cylindrical flower pot. He has 60ft? of
metal. What is the volume of the largest flower pot he can build?
Recall that the volume of a cylinder is 7r2h and the surface area
of a cylinder with open top is w72 + 2rrh where 7 is the radius

&nd h is the height.
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9. A moving box with width twice the length needs to have a volume
of 32ft3. Find the smallest p0881ble amount of materlal needed.
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10. Meriel wants to construct a circular table with a rectangular leaf
that can be added in the middle. She wants the perimeter of the

table (with the leaf in) to be 12 feet. What dimensions maximize
the size of the leaf?

® © A-12- 4nrEO
) 5 4nr =12
] LV Y7 s
@ WMoximize A=2rL M Dot Tt
@ v 050 A'=-4r<0 (N
] : 3 +
@ Conslrount - 28+ 2 =\ @ v Lﬁ% L= lo- 7 (%)= E
Soive Jor L2 24=12-21v
A=lo~ny
Rewrite A A= 2v (b-7v)
=\2v-2m*

11. Vincent plans to build a dog house whose cross section is a rect-
angle surmounted by a semicircle. If he wants the girth (perime-
ter of the cross section) to be 16 feet, what is the largest cross

sectional area possible?
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